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Figure from Strang, introduction to linear algebra
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Figure 2.2: Column picture: A combination of columns produces the right side (1, 11).
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Figure from Strang, introduction to linear algebra
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Figure 2.3: Row picture: Two planes meet at a line L. Three planes meet at a point.

Figure from Strang, introduction to linear algebra
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Figure 2.5: Eliminating « makes the second line horizontal. Then 8y = &8 gives y = 1.
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Figure from Strang, introduction to linear algebra
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Figure 2.6: Row picture and column picture for Example 1: no solution.
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Figure from Strang, introduction to linear algebra
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lies on the line of columns

X—2y=1 A
Oy =0

Same line from both equations
~ Solutions all along this line

1

1 _ 1
i(second column) = — [3]

Figure 2.7: Row and column pictures for Example 2: infinitely many solutions.
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Figure from Strang, introduction to linear algebra
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Figure from Artin, algebra
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